Name: Date:

Teacher: Class:
A Addition 204
l Tongue Twister: Shallow ships show some signs of sinking.
Calculate.
L 3+10= 2. 8+1=
% 3+9= 4 8+8=
5. 247 = 6. 2 4+4=
" 3+4= 8 5+3=
% 9+7= 10 7+2=
1. 1+10= 12.6+2=
13. 10+5 = 14 9 +9=
B 10+3= 1 9+1=
17. 10 + 1 = 18. 341 =
19. 349-= 20. 8+8=
2. 9 47 = 2. 244 =
23. 3 4+4= 2. 5 4+ 3=
25. 9+ 7= 26. 7 +2 =
2. 1+10= 8 6+2=
29. 10+ 5= 30. 9+9=
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Answer Key Date:

Teacher: Class:
Addition 204
Tongue Twister: Shallow ships show some signs of sinking.
Calculate.

L 3+10=13 2 8+1=9

3 3+9=12 “ 8+8=16

> 2+7=9  2+4=6

T 3+4=7 % 5+3=8

% 9+7=16 0 7+2=9

1 1+10=11 12.6+2=38

13 10+5=15 4 9+9=18

> 10+3=13 1 9+1=10

7. 10+1=11 18 3+1=4

19 3+9=12 2. 8+8=16

L 2+7=9 2 2+4=6

B 3+4=7 2. 5+3=8

> 9+7=16 ® 7+2=9

2. 1+10=11 8 6+2=8

2 10+5=15 % 9+9=18
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